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22 A concrete slab is a cuboid.

It measures 400 mm by 400 mm by 28 mm.
The density of the concrete is 2250 kg/m”.

Calculate the total mass of 60 slabs.
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14 An alloy is made from 28 cm? of copper and 41cm? of gold.

The density of copper is 9g/cm?3.
The density of gold is 19g/cm?.

(a) Work out the mass of copper used.

(a)
(b) Work out the density of the alloy.

(b)

.................................................
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The density of copper is 9g/cm?.
The density of gold is 19g/cm?®. Msss

(a) Work out the mass of copper used. den UON
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(b) Work out the density of the alloy.
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A sculpture is formed from a cylinder resting on top of a cuboid.

The cylinder has radius 45cm and height 80cm.
The cuboid measures 90cm by 90cm by 150cm.

The sculpture is made of granite.
The granite has a density of 2.7 g/lcm3.

Calculate the total mass of the sculpture in tonnes.
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tonnes [5]
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A sculpture is formed from a cylinder resting on top of a cuboid.
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Calculate the total mass of the sculpture in tonnes.
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The object below is made from a square-based pyramid joined to a cuboid.
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The base of the cuboid and the base of the pyramid are both squares of side 4 cm.
The height of the cuboid is 8 cm and the total height of the object is 13cm.
The total mass of the object is 158g.

The cuboid is made from wood with density 0.67 g/cm?3.
The pyramid is made from granite.

Calculate the density of the granite.

[The volume of a pyramid is % x area of base x perpendicular height.]
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8 The object below is made from a square-based pyramid joined to a cuboid.
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\ The total mass of the object is 158g.
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13cm The pyramid is made from granite.
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A solid metal block has mass 5009 and volume 125cm?.

Work out the density of the block.
Give the units of your answer.

Video created by Will Neill
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A solid metal block has mass 500g and volume 125cm?.

Work out the density of the block. SO @ 3
Give the units of your answer.
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29 The diagram shows a block of silver in the shape of a cuboid.

G31
R24 10cm
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20cm

The density of silver 1s 10.5 g/cm’

Work out the mass, in grams, of the block of silver.

(Total for Question 29 is 3 marks)
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29 The diagram shows a block of silver in the shape of a cuboid.
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20 The density of apple juice is 1.05 grams per cnr’. Video created by W Neill
The density of fruit syrup is 1.4 grams per cm’.
The density of carbonated water is 0.99 grams per cm’.

25 cm?® of apple juice are mixed with 15 cm?® of fruit syrup and
280 cm’ of carbonated water to make a drink with a volume of 320 cm’.

Work out the density of the drink.
Give your answer correct to 2 decimal places.

SR o

(Total for Question 20 is 4 marks)
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The density of fruit syrup is 1.4 grams per cm’.

iR

The density of carbonated water is 0.99 grams per cm’.

25 cm?® of apple juice are mixed with 15 cm?® of fruit syrup and .D \/
280 cm’ of carbonated water to make a drink with a volume of 320 cny’.

Work out the density of the drink.
Give your answer correct to 2 decimal places.
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21 A gold bar has a mass of 12.5 kg.
The density of gold is 19.3 g/cm’

Work out the volume of the gold bar.
Give your answer correct to 3 significant figures.

Created by W Neill

(Total for Question 21 is 3 marks)
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21 A gold bar has a mass of 12.5 kg. P
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The density of gold is 19.3 g/cm’

Work out the volume of the gold bar.
Give your answer correct to 3 significant figures.
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(Total for Question 21 is 3 marks)
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7 Liquid A has a density of 1.42g/cm?

7em?® of liquid A is mixed with 125 em?® of liquid B to make liquid C.
Liquid C has a density of 1.05 g/cm?

Find the density of liquid B.

Give your answer correct to 2 decimal places.

...glem

(Total for Question 7 is 3 marks)
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7 Liquid A has a density of 1.42 g/cm?

7em? of liquid A is mixed with 125 cm?® of liquid B to make liquid C.

Liquid C has a density of 1.05 g/cm? O_an Uf’(

Find the density of liquid B.
Give your answer correct to 2 decimal places.
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19 Here are two solid prisms, prism A and prism B. Video created by W Neill
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prism A prism B

The cross section of prism A is a sector, with angle 45°, of a circle of radius 10cm.
The prism has a depth of 10cm and a mass of 40z grams.

The cross section of prism B 1s a sector, with angle 60°, of a circle of radius 10cm.
The prism has a depth of 5cm and a mass of 507 grams.

Express the difference in the densities of the two prisms as a percentage of the density of prism A.
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(Total for Question 19 is S marks)
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The cross section of prism A 1s a sector, with angle 45°, of a circle of radius 10cm. 2 Z /Z =
The prism has a depth of 10 cm and a mass of 40z grams. O 3 14
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The cross section of prism B is a sector. with angle 60°. of a circle of radius 10 cm. / = /g
The prism has a depth of 5cm and a mass of 50z grams.
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21 Jackson is trying to find the density, in g/cm’. of a block of wood.
The block of wood i1s in the shape of a cuboid.

He measures

NS% the length as 13.2 cm. correct to the nearest mm
the width as 16.0 cm, correct to the nearest mm
P\le- the height as 21.7 cm. correct to the nearest mm

He measures the mass as 1970 g. correct to the nearest 5g.

By considering bounds, work out the density of the wood.
Give your answer to a suitable degree of accuracy.

You must show all your working and give a reason for your final answer.

(Total for Question 21 is 5 marks)
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The block of wood is in the shape of a cuboid. >) o
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By considering bounds. work out the density of the wood.
Give your answer to a suitable degree of accuracy.
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20 Here 1s a frustum of a cone.
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Volume of cone = 3 nr’h

The diagram shows that the frustum is made by removing a cone with height 3.2 cm from
a solid cone with height 6.4 cm and base diameter 7.2 cm.

The frustum 1s joined to a solid hemisphere of diameter 7.2 cm to form the solid S shown
below.

The density of the frustum 1s 2.4 g/cm’
The density of the hemisphere is 4.8 g/cm’

32cm : :
Calculate the average density of solid S.

o glom?

(Total for Question 20 is S marks)
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The diagram shows that the frustum is made by removing a cone with height 3.2 cm from 9
a solid cone with height 6.4 cm and base diameter 7.2 cm. 9 b N 2 f/sr-l—r r L)
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The density of the frustum 1s 2.4 g/cm’
The density of the hemisphere is 4.8 g/cm’

Calculate the average density of solid S.
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mass
volume

22 (a) Density =

R
The mass of solid A is 6 times the mass of solid B.

The volume of solid A is 3 times the volume of solid B.

Complete the sentence.
[1 mark]

The density of solid A is times the density of solid B.
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mass

(a) Density =
volume

R

The mass of solid A is 6 times the mass of solid B.

The volume of solid A is 3 times the volume of solid B.

Complete the sentence.
[1 mark]

The density of solid A is 2 times the density of solid B.
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4 Which one of these is a unit of density?

Circle your answer.
R24 [1 mark]

kg/m? m?/kg kg/m® m>/kg
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4 Which one of these is a unit of density?

Circle your answer.
R24 [1 mark]

kg/m? m?/kg m>/kg
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16 Some concrete has volume 3.8 m3
16 (a) The density of the concrete is 2400 kg/m3

R24 Work out the mass of the concrete.
[2 marks]

Answer kg




16 Some concrete has volume 3.8 m3

16 (a) The density of the concrete is 2400 kg/m3
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R24 Work out the mass of the concrete.
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o K 2.8
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